# Investigation of the Effectiveness of the Solution-Focused Group Counseling Program to Increase Self-Control in University Students

Mehmet Enes SAĞAR

# Abstract

The purpose of this research is to examine the effectiveness of the solution-focused group counseling program aimed at increasing the selfcontrol levels of university students. The research is an experimental study with experimental-control group with pre-test, post-test and follow-up measurement design. The study group of the research, 13 of the students were randomly assigned to the experimental group and 13 to the control group. In the research, university students in the experimental group were given 6 sessions (each session is between 90-120 minutes and one day a week) of solution-focused group psychological counseling once a week. No studies were conducted on the control group. In this study, "Self-Control Scale" and "Personal Information Form" were used as data collection tools. Mann Whitney U Test and Wilcoxon Signed Rank Test were used in the analysis of the data. As a result of the research, it was determined that the solution-focused group was more effective than the control group in increasing self-control. In addition, it was determined that the solution-focused in the follow-up test performed at the end of three months.

**Keywords:** Solution-Focused Group Counseling, Self-Control, University Students

# Introduction

It is important for individuals to regulate themselves in order to better adapt to themselves and their environment and to reach an ideal life. In this respect, self-control, which is considered as the capacity of individuals to adapt and change themselves, is one of the most remarkable issues (Baumeister et al., 2007; Duyan et al., 2012; Sağar, 2021a, 2021b).

Life offers people various alternatives at different times and expects them to make choices. The fact that people make their choices by making their decisions about alternatives can be expressed with the term self-control. Self-control is considered as temporarily extended behavioral patterns that help individuals to restrain their impulsive decisions (Rachlin, 1974, 2000). Self-control is defined as the ability to adapt one's physical and emotional reactions to standards such as moral values and social expectations, and not to act impulsively by delaying instant gratification (Baumeister et al., 1998; Baumeister et al., 2007; Rosenbaum, 1980). In other words, selfcontrol is the permanent regulation of one's feelings, thoughts and actions regarding attractive alternatives that come up with one's own efforts in line with their goals (Duckworth, 2011; Duckworth et al., 2019; Mischel et al., 1996). In general terms, self-control is the process of transforming one's emotions, thoughts and behaviors towards their goals, and it can also be expressed as the ability to ignore or change internal reactions, limit impulses or invalidate impulses (Baumeister et al.,1998; Inzlicht et al., 2014; Muraven et al., 1999; Tangney et al., 2004). In terms of healthy development of this skill, Rosenbaum (1980) states that the development of self-control consists of four processes. These processes are in the form of using one's own instructions in order to control physiological and emotional reactions,

## About the Article

Type: Research Received: 10 March 2023 Accepted: 11 April 2023 Published: 30 June 2023 DOI: 10.31805/acjes.992428 Correspondance Details: Mehmet Enes SAĞAR Afyon Kocatepe University, Faculty of Education, Department of Guidance and Psychological Counseling Afyon/Turkey E-mail: mehmetenes15@gmail.com

<sup>a</sup>Mehmet Enes SAĞAR Afyon Kocatepe University, Faculty of Education, Department of Guidance and Psychological Counseling Afyon/Turkey

E-mail: mehmetenes15@gmail.com

#### Suggested APA Citation

Sağar, M.E. (2023). Investigation of the effectiveness of the solution-focused group counseling program to increase self-control in university students. Academy Journal of Educational Sciences, 7(1), 10-19. http://dx.doi.org/10.31805/ acjes.1263134



applying strategies for problem solving, delaying gratification for a while in order to reach high-level goals, and perceived self-efficacy. Muraven (2010) emphasizes that self-regulation performance can be improved by regular practice of small self-control actions.

People who can control their impulses by developing selfcontrol are able to move away from their inner conflicts and achieve a healthier lifestyle (For example living a healthy life instead of eating a calorie-dense dessert, taking drugs, or drinking an alcoholic beverage, to be in a family, to communicate well with relatives or friends, to work, to have a regular life) (Brown & Rachlin, 1999; Rachlin, 1995). If the person cannot control these conflicts and act consistently in accordance with their goals, they may experience negative behaviors by experiencing self-control failure. For example, these behaviors are actions such as eating foods that make you fat, spending excessive money, continuing a sedentary life or continuing to use substances instead of dieting (Fujita, 2011). In this context, self-control can help one protect and regulate oneself. In addition, Baumeister et al. (2007) emphasizes that self-control by disciplining impulses and behaviors can improve one's well-being and mental health, and that self-control is a promising way to achieve this. In this context, studies based on group counseling (Idowu et al., 2010; Kennett, 1994) and cognitive-behavioral approaches (Etscheidt, 1991; Kendall & Wilcox, 1980; Kendall & Zupan, 1981; Larkin & Thyer, 1999; Rehm et al., 1987) have been carried out so that individuals can cope with self-control failure and develop self-control.

There are studies on self-control in the literature. However, these studies were mostly carried out based on group counseling or cognitive-behavioral approaches. Therefore, it can be said that the studies on self-control in the literature are insufficient and the existing studies showing effectiveness are mostly based on the cognitive-behavioral approach. In addition to these existing studies in the literature, the effect of studies based on different counseling approaches on self-control can be investigated. In this direction, an alternative study can be conducted based on the "solutionfocused brief counseling" approach, one of the postmodern approaches. This approach was developed by pioneers such as Steve de Shazer and Insoo Kim Berg as a family counseling model in the USA in the 1980s. It pays attention to the solutions, resources, small changes, strengths, and achievements of the clients rather than their problems. It also helps them focus on the present rather than the past. In the process consisting of 4-6 sessions, it is essential to use a solution-focused language, to accept each client as the expert of their own life, and to be collaborative. The basic techniques of this approach are; formulization of first session task, pre-session change technique, scaling questions, miracle question technique, exception situations, coping questions technique, crystal ball technique (De Jong & Berg, 1998, 2008; De Shazer, 1985; De Shazer et al., 1986, De Shazer & Berg, 1997; Doğan, 1999; Gladding, 2013; Lethem, 2002; Murdock, 2012; Simon & Berg, 1997).

Self-control, which has a place in every period and every field of life, has a great importance in the university period as well. Self-control is among the important features expected from university students in order to be able to control their impulses first, then to be able to successfully fulfill their duties and responsibilities by regulating themselves, and to be more compatible with themselves and their environment. In this context, it is thought that it would be useful and important to support and encourage university students with studies to protect and increase their selfcontrol levels. In addition, it is thought that there is a need for studies based on education, psychology and psychological counseling in terms of interventions to increase the selfcontrol of university students. Therefore, it is considered very important for psychological help professions to have an effective program to support self-control. In the literature, it is seen that studies to increase self-control focus on the cognitive-behavioral approach, but self-control studies are quite inadequate. With this study, it is thought that the solution-focused group counseling approach, as an alternative to the cognitive-behavioral approach, will be effective in increasing self-control. Solution-focused counseling approach, which is one of the most appropriate intervention methods in terms of increasing and developing the self-control of university students, can enable students to realize their abilities and use them on self-control, unlike other counseling approaches. Therefore, it can contribute to producing solutions by developing a positive and optimistic perspective in providing self-control against impulsive problems. The experience is focused on the main and can enable the person to discover their talents. In this way, it can help the person to find solutions to self-control problems. In addition, it can provide a better understanding of the experiences related to self-control. In addition, it is thought that this research can contribute to the studies in the field of psychological counseling and guidance. For these reasons, this research tried to find answers to the questions about how solution-focused group counseling approach contributes to increase self-control in university students. In this direction, the aim of the research is to examine the effectiveness of the solution-focused group counseling program aimed at increasing the self-control of university students. For this purpose, the hypothesis of the research is as follows:

H1: Psychological counseling with a solution-focused group is effective in increasing the self-control levels of university students.

#### Method

#### Research Model

This research is an experimental study with experimentalcontrol group with pre-test, post-test and follow-up measurement design. The experimental design of the study is given in Table 1.

#### Study Group

The study group consists of 26 university students attending a state university in the Aegean Region of Turkey in the fall semester of the 2021-2022 academic year. The groups consist of 12 people (experimental group: 8 females and 5 males, control group: 7 females and 6 males). University students in the study group are between the ages of 18-

**Table 1.** Experimental design of the study

Group	Pre-test	Uygulama	Post-test	Follow-up test
Experimental group	Self-Control Scale	Solution-focused group counseling program (6 sessions / 1 session per week / 120 minutes)	Self-Control Scale	Self-Control Scale
Control Grubu	Self-Control Scale	No implementation has been made	Self-Control Scale	Self-Control Scale



25. These students were not clinically diagnosed, were not included in any other support program to increase self-control (individual or group counseling) and volunteered to participate in the research.

#### Data Collection Tools

#### Self-control scale - SCS

The Turkish adaptation of this scale, developed by Rosenbaum (1980) to reveal the self-control behaviors of individuals and their tendency to use these behaviors in their daily lives, was conducted by Duyan et al. (2012) carried out. This scale, which is a six-point Likert type and consists of a total of thirty-six items, consists of three dimensions: "reformative", "redressive" and "experiential". The Cronbach Alpha coefficient was determined as .75 for the "reformative" self-control sub-dimension, .72 for the "redressive" selfcontrol sub-dimension, and .83 for the "experiential" selfcontrol sub-dimension, respectively. In addition, it was calculated as .80 in the whole scale. High scores from the scale indicate that individuals have high levels of self-control (Duyan et al., 2012).

### Personal information form

It is a form prepared by the researcher to ask for information about university students' gender, age and whether they have received psychological help on self-control before.

#### Process

In order to form the study group, students were informed about the study to be carried out by going to different departments at appropriate times. In line with the information, the "Self-Control Scale" was applied to 271 volunteer students who wanted to participate in this study. After this application, the scores of 271 university students from the scale were ranked starting from the lowest score to the highest score, and university students with low self-control scores were determined. Afterwards, preliminary interviews were conducted with the volunteer students. The students were evaluated according to the preliminary interviews and some criteria determined by the researcher. These criteria are being a university student, being a volunteer, not taking part in another support program (individual or group counseling), not having a clinical diagnosis. A pool of participants was created in line with the determined criteria. A list was created by determining a total of 26 university students (15 women and 11 men) who met the criteria determined by the researcher. These 26 university students, 13 in each group, were randomly distributed to one of the experimental and control groups. In accordance with the basic philosophy, principles and techniques of the solution-focused approach and in the context of this research, six sessions of " solutionfocused group counseling" sessions were organized for the university students in the experimental group. These sessions were carried out once a week for 90-120 minutes. The university students in the control group were allowed to continue their normal daily life and learning activities without any action. After the group sessions were completed, the "Self-Control Scale" was administered to the university students in both groups as a post-test. Three months after all studies were completed, the "Self-Control Scale" was administered to the university students in the experimental group and control group as a follow-up test. After the completion of all studies, the control group was given a twohour self-control increasing seminar within the framework of the ethical rules of the field. All these studies were completed in the fall semester of the 2021-2022 academic year.

Development of the Program and Implementation Process The general aim of this program is to increase the selfcontrol of university students by gaining a solution-focused perspective. During the development of the program, a literature review was conducted (Ateş, 2021; De Jong & Berg, 1998, 2008; De Shazer, 1985; De Shazer & Berg, 1997; Doğan, 1999; Proudlock & Wellman, 2011; Saadatzaade & Khalili, 2012; Sağar, 2021c, 2022a, 2022b; Sağar & Özabacı, 2022; Simon & Berg, 1997; Zhang et al., 2017). The program covers topics such as formulating the first session, miracle question, exceptions, scaling questions, focusing on small changes, coping questions, positive design for the future, praising clients, homework, encouraging, highlighting client strengths, focusing on solutions, setting goals.

Program After the program was designed, a preliminary application was made on the program prepared with 8 volunteer university students. With this preliminary application, the deficiencies in the program were determined. The necessary revisions were made and the program was adapted to the working group. During the program implementation, attention was paid to complete solution-focused group sessions on the specified dates and times. The content summary of the "Solution-Focused Group Counseling Program to Increase the Self-Control of University Students" developed in this research is given below.

Session I: It is a session where group members get to know each other. The aims of the sessions were introduced, and general information about solution-focused counseling approach and self-control was shared. Positive goals and rules have been tried to be determined. This session technically includes the pre-session change and formulation of the first session task. In addition, the scaling questions technique was used.

Session II: Observations and experiences of the group members about the developments in their lives related to their self-control are included. In this context, attention was drawn to the positive changes and solutions in the lives of the group members. The focus is on times when there are fewer complaints. This session technically includes the miracle question technique. In addition, the scaling questions technique was used.

Session III: Group members were enabled to find their successes, strengths and past solutions to increase their self-control. Group members were helped to find times in the past when they found a solution and coped by looking at it from different angles. Technically, this session included the technique of coping questions. In addition, the scaling questions technique was used.

Session IV: Efforts were made for group members to discover their exceptions in terms of seeing their solutions and reducing their problems. Efforts were made to formulate intervention plans. This session technically includes the exception situations technique. In addition, the scaling questions technique was used.

Session V: Group members were allowed to design and share situations in which they would have high self-control in the future. Thus, it is aimed that group members gain awareness of how they will be when their self-control is high and they cope with reaching their goals. This session includes the crystal ball technique. In addition, the scaling questions technique was used.

Session VI: It was ensured that the group members evaluated this process, which consisted of six sessions. The scaling questions technique was used in this session in terms of group members' self-evaluation and group process.



#### Data Collection and Analysis

Within the scope of this study, it was first examined whether the experimental group and the control group had parametric values. In this context, it was determined that the groups did not have a normal distribution. Therefore, "Mann Whitney U Test" and "Wilcoxon Signed Rank Test" were used in the analysis of the data obtained. In addition, the level of significance accepted in the study is .05 (Büyüköztürk, 2011). Within the framework of this study, some issues were taken into consideration in order to ensure external and internal validity. In order to ensure external validity in the context of this study: 1- Care was taken to select the university students in the experimental and control groups in an unbiased manner and that these groups represent the universe. 2- It was tried to prevent the university students in the research from being affected by the physical, social and psychological structure of the experimental environment. In addition, precautions were taken to keep university students away from the influence of the researcher, and the university students who participated in the research were not informed about the content of the research. 3- A two-week period was left between the pretest and the beginning of the solution-focused sessions, and a three-month period between the post-test and the followup-test, and the "measurement response interaction effect" was tried to be controlled. In addition, with the follow-up test performed three months after the post-test, the effect of the changes resulting from the time-treatment interaction on the validity of the study was tried to be determined. 4-Sufficient number of groups are provided in order to reach a good generalization about increasing self-control and to minimize the limitations of data analysis. In order to ensure internal validity in this study: 1- The same measurement tool (self-control scale) was used in all measurements (pre-test, post-test and follow-up-test) of university students in the experimental and control groups, and the factors that might threaten internal validity arising from the data collection tools were used, tried to be avoided. In addition, only the researcher carried out the application of the measurement tools in a suitable environment. 2- The groups were randomly selected in accordance with the experimental conditions. 3Attention was paid to the number of individuals in the group, and both groups consisted of thirteen university students in order not to decrease the number. 4- The purpose of the measurement tools and what they measure were not stated to the university students, and thus, care was taken to avoid expectations that might affect the research result. 5- The university students in the experimental group were told not to share the group process and group processes with other individuals other than the group members.

**Ethics Committee Statement** 

Board Name : T.C. Afyon Kocatepe University Social and Human Sciences Scientific Research and Publication Ethics Committee Decisions Decision Date: 24.05.2021 Document Number: 23700 - DECISION 2021/247

#### Findings

The findings obtained in the research are presented below, respectively.

In this study, the self-control scale pre-test scores of the groups were analyzed with the Mann Whitney U Test to determine whether the experimental group and the control group were equal before the application, and the findings are presented in Table 2.

As seen in Table 2, it was found that there was no significant difference between the pre-experiment self-control sub-dimensions and the total scores of the students in the experimental and control groups (u<sub>experiential</sub>=78.00; u<sub>reformative</sub>=79.00; u<sub>reformative</sub>=82.50; u<sub>self-control total</sub>=80.00; p>.05). This finding shows that the experimental and control groups were matched groups in terms of pre-test scores. After determining the equality of the pre-test scores of the groups, whether there was a significant difference between the self-control scale post-test scores was analyzed with the Mann Whitney U Test, and the findings are presented in Table 3.

Table 2. Mann whitney u test analysis results regarding the pre-test scores of the groups

Scale	Groups	N	Mean Rank	Sum of Ranks	U	Р
Experiential	Experimental Group	13	14.00	182.00	70.00	700
	Control Group	13	13.00	169.00	78.00	.738
	Experimental Group	13	13.08	170.00		
Reformative	Control Group	13	13.92	181.00	79.00	.777
Redressive	Experimental Group	13	13.35	173.50	00.50	.918
	Control Group	13	13.65	177.50	82.50	
Self-Control Total	Experimental Group	13	13.15	171.00	0	0
	Control Group	13	13.85	180.00	80.00	.817

 Table 3. Mann whitney u test analysis results regarding the post-test scores of the groups

Scale	Groups	Ν	Mean Rank	Sum of Ranks	U	Р
Europeinstiel	Experimental Group	13	19.35	251.50	0.50	
Experiential	Control Group	13	7.65	99.50	8.50	.000
	Experimental Group	13	19.12	248.50	11.50	.000
Reformative	Control Group	13	7.88	102.50	11.50	
Deducación	Experimental Group	13	18.19	236.50	00.50	.002
Redressive	Control Group	13	8.81	114.50	23.50	
Self-Control Total	Experimental Group	13	19.31	251.00		
	Control Group	13	7.69	100.00	9.00	.000



Scale	Groups	Negative/Positive Ranks	Ν	Mean Rank	Sum of Ranks	Z	р
		Negative Ranks	0	.00	.00		
	Experimental Group	Positive Ranks	13	7.00	91.00	-3.500	.000
Everyoptic		Ties	0				
Experiential		Negative Ranks	3	5.33	16.00		
	Control Group	Positive Ranks	7	5.57	39.00	-1.181	.238
		Ties	3				
		Negative Ranks	0	.00	.00		.001
	Experimental Group	Positive Ranks	13	7.00	91.,00	-3.182	
Reformative		Ties	0				
Reloffiative	Control Group	Negative Ranks	4	6.50	26.00		
		Positive Ranks	7	5.71	40.00	622	.534
		Ties	2				
		Negative Ranks	0	.00	.00	-3.184	
	Experimental Group	Positive Ranks	13	7.00	91.00		.001
Redressive		Ties	0				
Redressive		Negative Ranks	4	5.00	20.00		
	Control Group	Positive Ranks	8	7.25	58.00	-1.493	.135
		Ties	1				
		Negative Ranks	0	.00	.00		
	Experimental Group	Positive Ranks	13	7.00	91.00	-3.180	.001
		Ties	0				
Self-Control Total		Negative Ranks	5	4.00	20.00		
	Control Group	Positive Ranks	8	8.88	71.00	-1.782	.075
		Ties	0				

#### Table 4. Wilcoxon signed ranks test analysis results regarding pre-test and post-test scores of the groups

As seen in Table 3, it was determined that the students in the experimental group had higher self-control scale scores than the students in the control group, and the difference between the post-test scores was significant (u<sub>experiential</sub>=8.50; U<sub>reformative</sub>=11.50; U<sub>redressive</sub>=23.50; U<sub>self-control total</sub>=9.00; p<0.05). In this context, the students in the experimental group had higher self-control scale mean rank and rank total scores compared to the students in the control group. It was determined that the effect size of this determined difference was in the form of  $r_{\rm experiential}$ =0.76;  $r_{\rm reformative}$ =0.73;  $r_{\rm redressive}$ =0.61;  $r_{\rm self-control\ total}$ =0.75 and the difference had a large effect. In addition, it was determined that the total variance explained 58% for the experiential sub-dimension, 53% for the reformative subdimension, 37% for the redressive sub-dimension, and 57% for the sum of self-control scores. In addition to this analysis, Wilcoxon Signed Rank Test was applied to determine whether there was a significant difference between the pretest scores and posttest scores of the groups, and the results are presented in Table 4.

As seen in Table 4, there was no significant difference between the pretest and posttest scores of the control group ( $Z_{experiental}$ =-1.181;  $Z_{reformative}$ =-.622;  $Z_{redressive}$ =-1.493;  $Z_{self-control}$ =-1.782; p>0.05). However, it was determined that there was a significant difference between the pre-test scores of the experimental group and the post-test scores ( $Z_{experiental}$ =-3.500;  $Z_{reformative}$ =-3.182;  $Z_{redressive}$ =-3.184;  $Z_{self-control}$ 

total =-3.180; p<0.05). When the mean rank and total rank of the difference scores were examined, it was seen that this difference was in favor of the positive ranks and post-test score. It was determined that the effect size of this determined difference was in the form of  $r_{experiential}$ =0.74;  $r_{reformative}$ =0.69;  $r_{redressive}$ =0.75;  $r_{self-control total}$ =0.77 and the difference had a large effect. In addition, it was determined that the total variance explained 54% for the experiential sub-dimension, 48% for the regenerative sub-dimension, 56% for the restorative sub-dimension, and 59% for the sum of the self-control scores. In order to determine the permanence of this difference in favor of the experimental group, a follow-up test was performed 3 months after the post-test measurements. The data of the follow-up test were analyzed with the Mann Whitney U Test and the results are presented in Table 5.

As seen in Table 5, the self-control levels of the students in the experimental group are higher than the scores of the students in the control group, and the difference is significant (uexperiential=19.00; ureformative=15.00; uredressive=15.00; uself-control total=10.00; p<0.05). This finding shows that the difference in the post-test scores of the groups in favor of the experimental group continued in the follow-up test as well. It was determined that the effect size of this determined difference was in the form of rexperiential=0.65; rreformative=0.69; rredressive=0.70; rself-control total=0.74 and the difference had a large effect. In addition, 43% of the

Scale	Groups	Ν	Mean Rank	Sum of Ranks	U	P
	Experimental Group	13	18.54	241.00	19.00	.001
Experiential	Control Group	13	8.46	110.00		
	Experimental Group	13	18.85	245.00	15.00	.000
Reformative	Control Group	13	8.15	106.00		
De due e di ve	Experimental Group	13	18.85	245.00		
Redressive	Control Group	13	8.15 106.0		15.00	.000
Self-Control Total	Experimental Group	13	19.23	250.00	10.00	
	Control Group	13	7.77	101.00	10.00	.000

Table 5. Mann whitney u test analysis results regarding the follow-up test scores of the groups

Table 4. Wilcoxon signed ranks test analysis results regarding pre-test and post-test scores of the groups

Scale	Groups	Negative/Positive Ranks	Ν	Mean Rank	Sum of Ranks	Z	р
Experiential		Negative Ranks	0	.00	.00		
	Experimental Group	Positive Ranks	1	1.00	1.00	-1.000	.317
		Ties	12				
		Negative Ranks	5	7.30	36.50		
	Control Group	Positive Ranks	8	6.81	54.50	629	.529
		Ties	0				
		Negative Ranks	7	6.93	48.50		.164
	Experimental Group	Positive Ranks	4	4.38	17.50	-1.393	
Reformative		Ties	2				
		Negative Ranks	6	5.75	34.50	·	
	Control Group	Positive Ranks	7	8.07	56.50	769	.442
		Ties	0				
		Negative Ranks	0	.00	.00		
	Experimental Group	Positive Ranks	2	1.50	3.00	-1.414	.157
De due e di ve		Ties	11				
Redressive		Negative Ranks	6	6.33	38.00		
	Control Group	Positive Ranks	7	7.57	53.00	525	.600
		Ties	0				
		Negative Ranks	7	7.50	52.50	·	
Self-Control Total	Experimental Group	Positive Ranks	5	5.10	25.50	-1.067	.286
		Ties	1				
	Control Group	Negative Ranks	5	5.80	29.00		
		Positive Ranks	8	7.75	62.00	-1.153	.249
		Ties	0				

total variance for the experiential sub-dimension; 48% for the regenerative sub-dimension; 49% for the restorative subdimension; It was determined that 56% of the total self-control scores were explained. In addition to this analysis, Wilcoxon Signed Rank Test was applied to determine whether there was a significant difference between the post-test scores of the groups and the follow-up scores, and the results are presented in Table 6. As seen in Table 6, there was no significant difference between post-test scores and follow-up test scores (Experimental Group ( $Z_{experiential}$ =-1.000;  $Z_{reformative}$ =-1.393;  $Z_{redressive}$ =-1.414;  $Z_{self-control total}$ =-1.067; p>.05; Control Group ( $Z_{experiential}$ =-.629;  $Z_{reformative}$ =-.769;  $Z_{redressive}$ =-.525;  $Z_{self-control total}$ =-1.153; p>.05). This finding shows that the increase in the self-control level of the students in the experimental group continued in the follow-up test.



## Discussion

It was found that the solution-focused group counseling program was more effective on the experiential, reformative, redressive sub-dimensions of the self-control scale and the total scores of the scale compared to the control group. It was observed that the solution-focused group counseling program was more effective than the control group in increasing self-control. In addition, it was concluded that these efficacy levels continued in the follow-up measurement performed three months after the completion of the sessions. These results show that solution-focused group counseling is effective on university students' self-control scores (experimental, reformative, redressive subscales and selfcontrol scale total scores). According to the literature review on this result, studies examining the effectiveness of group counseling based on solution-focused approach on self-control were found to be insufficient. However, the result obtained from this study is consistent with the results of increasing self-control based on other counseling approaches other than solution-focused group counseling (Etscheidt, 1991; Idowu et al., 2010; Irhamna et al., 2022; Kelley et al., 2022; Kendall & Wilcox, 1980; Kendall & Zupan, 1981; Kennett, 1994; Larkin & Thyer, 1999; Rehm et al., 1987; Zeidi et al., 2020). In this context, it can be said that the participation of clients in the counseling process has a positive effect on increasing self-control.

Solution-focused counseling is an approach that directly emphasizes the solution of problems. Therefore, the solution-focused approach focuses on the client's skills and solutions rather than deficiencies or problems (De Jong & Berg, 1998, 2008; De Shazer,1985; De Shazer et al., 1986, De Shazer & Berg, 1997; Simon & Berg, 1997). In this context, it can be said that individuals can organize their lives and provide self-control in line with their skills and abilities. It can be thought that it would be beneficial for solution-focused practitioners to examine self-control, which is considered as the capacity of adapting and changing oneself in order to be more adaptable to the environment, from a theoretical and experimental point of view.

In this study, it was concluded that solution-focused group counseling is effective in increasing self-control. As a matter of fact, this result obtained from the research seems to support the finding made by Zhang, Ling, and Shi (2017) that solution-focused group counseling is effective in developing and increasing individuals' self-control levels. Continuing to review the literature, the finding that solution-focused group counselor is effective in increasing the self-control levels of individuals, made by Saadatzaade and Khalili (2012) regarding self-regulation, which is a concept close to selfcontrol, seems to be compatible with the result of this study. Similarly, in the studies conducted by Terni (2014) and Gading et al. (2021), the findings of increased self-control in individuals participating in the study based on a solution-focused approach are also consistent with the result of this study. In another study by Saidaei Gol-Sefidi and Poorseyed Aghaei (2022), it is consistent with the conclusion that solutionfocused counselor strengthens self-control. In addition, the results of the research, in which it was determined in the literature that solution-focused group counselling is effective in coping with various problems in life, are indirectly consistent with the result of this study (Ates, 2015, 2016a, 2016b, 2020; Ateş & Gençdoğan, 2017; Cepukiene et al., 2018; Javid et al., 2019; Kim et al., 2003; Ramezani & Ehteshami, 2015; Sağar, 2021c, 2022a, 2022b; Sağar & Ateş, 2023; Sağar & Ozabacı, 2022; Spilsbury, 2012). When the existing studies in the literature and the result obtained from this research are evaluated as a whole, it can be said that group counseling activities based on solution-focused approach have a positive effect on increasing the self-control of university students.

This research may have contributed to students' discoveries in obtaining positive experiences in terms of self-control and discovering methods of controlling their impulses. It may have given students the opportunity to examine their own resources and strengths in depth with a solution-focused approach. Therefore, solution-focused group counseling may have helped them learn to cope with their impulses by developing self-control. The solution-focused techniques used in the sessions may have provided the students with the opportunity to create actions that could increase their self-control and to evaluate their problems from a more positive perspective.

In conclusion, this study shows that solution-focused group counseling program is effective in increasing the self-control levels of university students. In addition to this positive result, there are some limitations in the study. This research data is limited to data obtained from university students only. In this context, similar studies can be carried out with different groups (adults, adolescents, etc.). Another limitation of this study is that the effect of group dynamics was not examined. Therefore, the effect of group dynamics can be examined in similar studies to be conducted in the future. This research is limited to a follow-up study performed six sessions and three months later. In this context, the content of the solutionfocused group counseling program developed in this research can be expanded by reframing it and adapting it to the need. In addition, longitudinal studies can be conducted to obtain more comprehensive data on increasing self-control in university students. This research is limited to only 26 university students. Future studies can be done with a larger research group. This study is limited to a program based on a solution-focused approach to increase self-control. In another study, programs based on different counseling approaches to increase self-control can be developed. The effectiveness of the prepared programs can be examined comparatively with the solution-focused approach. Studies such as training groups, seminars, guidance studies can be prepared that can increase the awareness of individuals on the subject of self-control.

# References

- Ateş, B. (2015). Üniversite öğrencilerinin güvengenlik becerileri üzerinde çözüm odaklı grupla psikolojik danışmanın etkisi. *Mersin Üniversitesi Eğitim Fakültesi Dergisi, 11*(3), 832-841. https://doi.org/10.17860/efd.84626
- Ates, B. (2016a). Effect of solution focused group counseling for high school students in order to struggle with school burnout. *Journal of Education and Training Studies*, 4(4), 27-34. http://dx.doi.org/10.11114/jets. v4i4.1254
- Ateş, B. (2016b). The effect of solution focused brief group counseling upon the perceived social competences of teenagers. *Journal of Education and Training Studies*, 4(7), 28-36. http://dx.doi.org/10.11114/jets.v4i7.1443
- Ateş, B. (2020). The effect of solution-focused brief approach on adolescent subjective well-being: An experimental study. *Journal of Family Counseling and Education*, *5*(2), 26-39. https://doi.org/10.32568/jfce.817517
- Ateş, B. (2021). *Çözüm odaklı kısa süreli psikolojik danışma, kuram ve uygulama.* Vizetek Yayıncılık.
- Ateş, B., & Gençdoğan, B. (2017). Universite öğrencilerinin sosyal fobi ile başa çıkmalarında çözüm odaklı grupla psikolojik danışmanın etkisinin incelenmesi. *İnönü Üniversitesi Eğitim Fakültesi Dergisi*, 18(1), 188-203. https://doi.org/10.17679/inuefd.306513



- Baumeister, R. F., Bratslavsky, E., Muraven, M., & Tice, D. M. (1998). Ego depletion: Is the active self a limited resource? *Journal of Personality and Social Psychology*, *74*(5), 1252–1265. https://doi. org/10.1037/0022-3514.74.5.1252
- Baumeister, R. F., Vohs, K. D., & Tice, D. M. (2007). The strength model of self-control. *Current Directions in Psychological Science*, *16*(6), 351-355. https://doi. org/10.1111/j.1467-8721.2007.00534.x
- Brown, J., & Rachlin, H. (1999). Self-control and social cooperation. *Behavioural Processes*, 47(2), 65-72. https://doi.org/10.1016/S0376-6357(99)00054-6
- Büyüköztürk, Ş. (2011). Sosyal bilimler için veri analizi el kitabı. Pegem Akademi Yayıncılık.
- Cepukiene, V., Pakrosnis, R., & Ulinskaite, G. (2018). Outcome of the solution-focused self-efficacy enhancement group intervention for adolescents in foster care setting. *Children and Youth Services Review, 88*, 81-87. https://doi.org/10.1016/j.childyouth.2018.03.004
- De Jong, P., & Berg, I.K. (1998). Interviewing for solutions. Brooks/Cole.
- De Jong, P., & Berg, I. K. (2008). *Interviewing for solutions.* Thomson.
- De Shazer, S. (1985). *Keys to solution in brief therapy*. W.W. Norton & Company Inc.
- De Shazer, S., & Berg I. K. (1997). 'What works?' Remarks on research aspects of solution-focused brief therapy. *Journal of Family Therapy*, *19*, 121-124. https://doi. org/10.1111/1467-6427.00043.
- De Shazer, S., Berg, I. K., Lipchik, E., Nunnally, E., Molnar, A., Gingerich, W., & Weiner-Davis, M. (1986). Brief therapy: focused solution development. *Family Process, 25*(2), 207–222. DOI: 10.1111/j.1545-5300.1986.00207.x
- Doğan, S. (1999). Çözüm odaklı kısa süreli terapi: Kuramsal bir inceleme. *Türk Psikolojik Danışma ve Rehberlik Dergisi,* 2(12), 28-38. https://dergipark.org.tr/tr/pub/tpdrd/ issue/21432/229636
- Duckworth, A. L. (2011). The significance of self-control. *Proceedings of the National Academy of Sciences,* 108(7), 2639-2640. https://doi.org/10.1073/ pnas.1019725108
- Duckworth, A. L., Taxer, J. L., Eskreis-Winkler, L., Galla, B. M., & Gross, J. J. (2019). Self-control and academic achievement. *Annual Review of Psychology*, *70*, 373-399. https://doi.org/10.1146/annurevpsych-010418-103230
- Duyan, V., Gülden, Ç. ve Gelbal, S. (2012). Özdenetim ölçeği: Güvenirlik ve geçerlik çalışması. *Toplum ve Sosyal Hizmet Dergisi, 23*(1), 23-38. https://dergipark.org.tr/tr/ pub/tsh/issue/48532/615966
- Etscheidt, S. (1991). Reducing aggressive behavior and improving self-control: A cognitive-behavioral training program for behaviorally disordered adolescents. *Behavioral Disorders*, 16(2), 107-115. https://doi. org/10.1177/019874299101600204

- Fujita, K. (2011). On conceptualizing selfcontrol as more than the effortful inhibition of impulses. *Personality and Social Psychology Review, 15*(4), 352–366. https://doi. org/10.1177/1088868311411165
- Gading, I. K., Hassan, S. A., Bakar, A. Y. A., & Rismawan, K. S. G. (2021). Solution-focused brief counseling and ABC manipulation technique in self-control training to reduce aggressive behaviour. *Cakrawala Pendidikan*, 40(3), 700-712. doi:10.21831/cp.v40i3.40755.
- Gladding, S. T. (2013). *Psikolojik danışma.* (Çev. Ed. N. Voltan Acar; Çev. T. Sarı). Nobel Akademik Yayıncılık.
- Idowu, A. I., Durosaro, I., & Esere, M. O. (2010). Efficacy of group counselling interventions (positive reinforcement and self control techniques) in remedying truancy among school-going adolescents in Ilorin, Nigeria. *IFE PsychologIA: An International Journal, 18*(1), 45-54. https://hdl.handle.net/10520/EJC38800
- Inzlicht, M., Schmeichel, B. J., & Macrae, C. N. (2014). Why self-control seems (but may not be) limited. *Trends in Cognitive Sciences*, *18*(3), 127-133. https://doi. org/10.1016/j.tics.2013.12.009
- Irhamna, N., Sugiyo, S., & Awalya, A. (2022). The Effectiveness Group Counseling with Role Playing to Improve Self-Control. *Jurnal Bimbingan Konseling*, *11*(3), 221-225. DOI 10.15294/JUBK.V11I3.61860
- Javid, N., Ahmadi, A., Mirzai, M., & Atghaei, M. (2019). Effectiveness of solution-focused group counseling on the mental health of midwifery students. *Revista Brasileira de Ginecologia e Obstetrícia*, *41*(8), 500-507. doi: https://doi.org/10.1055/s-0039-1693741.
- Kelley, T. M., Hollows, J., Pransky, J., Kryvanos, A., & Bowen, S. (2022). The efficacy of principle-based correctional counseling for improving the self-control and mental health of people incarcerated for sexual violence. *Violence Against Women*, 28(2), 573-592. https://doi. org/10.1177/10778012211022783
- Kendall, P. C., & Wilcox, L. E. (1980). Cognitive-behavioral treatment for impulsivity: Concrete versus conceptual training in non-self-controlled problem children. *Journal of Consulting and Clinical psychology, 48*(1), 80-91. https://doi.org/10.1037/0022-006X.48.1.80
- Kendall, P. C., & Zupan, B. A. (1981). Individual versus group application of cognitive-behavioral self-control procedures with children. *Behavior Therapy*, *12*(3), 344-359. https://doi.org/10.1016/S0005-7894(81)80123-2
- Kennett, D. J. (1994). Academic self-management counselling: Preliminary evidence for the importance of learned resourcefulness on program success. *Studies in Higher Education*, *19*(3), 295-307. https://doi.org/10.10 80/03075079412331381890
- Kim, H. M., Choi, Y. H., & Jeon, E. Y. (2003). The Effect of the Solution-focused group counseling program on problem-solving capacity of the nursing students. *The Korean Journal of Rehabilitation Nursing*, 6(2), 183-191.

- Larkin, R., & Thyer, B.A. (1999). Evaluating cognitive-behavioral group counseling to improve elementary school students' self-esteem, self-control, and classroom behavior. *Behavioral Interventions: Theory & Practice in Residential & Community*\Based Clinical Programs, 14(3), 147-161. https://doi.org/10.1002/(SICI)1099-078X(199907/09)14:3<147::AID-BIN32>3.0.CO;2-H
- Lethem, J. (2002). Brief solution focused therapy. *Child and Adolescent Mental Health*, 7(4), 189-192. https://doi. org/10.1111/1475-3588.00033
- Mischel, W., Cantor, N., & Feldman, S. (1996). Principles of self-regulation: The nature of willpower and selfcontrol. In E. T. Higgins & A. Kruglanski (Eds.), Social psychology: Handbook of basic principles (pp. 329– 360). Guilford Press
- Muraven, M. (2010). Building self-control strength: Practicing self-control leads to improved selfcontrol performance. *Journal of experimental social psychology*, 46(2), 465-468. https://doi.org/10.1016/j. jesp.2009.12.011
- Muraven, M., Baumeister, R. F., & Tice, D. M. (1999). Longitudinal improvement of self-regulation through practice: Building self-control strength through repeated exercise. *The Journal of Social Psychology*, *139*(4), 446-457. https://doi.org/10.1080/00224549909598404
- Murdock, N. L. (2012). *Psikolojik danışma ve psikoterapi kuramları.* (Çev. F. Akkoyun). Nobel Akademik Yayıncılık.
- Proudlock, S., & Wellman, N. (2011). Solution-focused groups. Counselling Psychology Review, 26(3), 45-54.
- Rachlin, H. (1974). Self-control. *Behaviorism, 2*(1), 94-107. https://www.jstor.org/stable/27758811
- Rachlin, H. (1995). Self-control: Beyond commitment. Behavioral and Brain Sciences, 18(1), 109-121. https:// doi.org/10.1017/S0140525X00037602
- Rachlin, H. (2000). *The science of self-control*. Harvard University Press.
- Rehm, L. P., Kaslow, N. J., & Rabin, A. S. (1987). Cognitive and behavioral targets in a self-control therapy program for depression. *Journal of Consulting and Clinical Psychology*, 55(1), 60-67. DOI: 10.1037/ 0022-006x.55.1.60
- Rosenbaum, M. (1980). A schedule for assessing self-control behaviors: Preliminary findings. *Behavior Therapy*, *11*(1), 109-121. https://doi.org/10.1016/S0005-7894(80)80040-2
- Saadatzaade, R. & Khalili, S. (2012). Effects of solution-focused group counseling on student's self-regulation and academic achievement. *International Journal for Cross-Disciplinary Subjects in Education (IJCDSE), 3*(3), 780-787.
- Sağar, M. E. (2021a). Predictive role of cognitive flexibility and self-control on social media addiction in university students. *International Education Studies*, *14*(4), 1-10. https://doi.org/10.5539/ies.v14n4p1
- Sağar, M. E. (2021b). Emotion regulation skills and self-control as predictors of resilience in teachers candidates. *International Education Studies*, *14*(6), 103-111. https:// doi.org/10.5539/ies.v14n6p103

- Sağar, M. E. (2021c). Intervention for social anxiety among university students with a solution-focused group counseling program. *International Journal of Progressive Education*, *17*(3), 316-326. https://doi. org/10.29329/ijpe.2021.346.20
- Sağar, M. E. (2022a). The effect of solution-focused group counseling on the resilience of university students. *E-International Journal of Educational Research, 13*(1), 103-117. https://doi.org/10.19160/e-ijer.1034931.
- Sağar, M. E. (2022b). Çözüm odaklı grupla psikolojik danışmanın üniversite öğrencilerinin problemlerini azaltmadaki etkisi. *Mehmet Akif Ersoy Üniversitesi Eğitim Fakültesi Dergisi*, (64), 1-23. https://doi. org/10.21764/maeuefd.1114671
- Sağar, M. E., Ateş, B. (2023). Effectiveness of solution-focused approach on emotion regulation skills. *International Innovative Education Researcher*, 3(1), 123-144. http:// dx.doi.org/10.29228/iedres.63091
- Sağar, M. E., & Özabacı, N. (2022). Investigating the effectiveness of solution-focused group counselling and group guidance programs to promote healthy internet use of university students. *African Educational Research Journal*, *10*(1), 14-27. https://doi. org/10.30918/AERJ.101.21.156
- Saidaei Gol-Sefidi, Z., & Poorseyed Aghaei, Z. S. (2022). The Effect of Solution-focused Therapy on Interpersonal Emotion Regulation and Self-control of Elementary School Students. *Quarterly Journal of Child Mental Health, 9*(3), 93-105. http://childmentalhealth.ir/ article-1-1278-en.html
- Simon, J., & Berg, I. K. (1997). Solution-focused brief therapy with long-term problems. *Directions in Rehabilitation Counseling*, 10, 117-127.
- Spilsbury, G. (2012). Solution-focused brief therapy for depression and alcohol dependence: A case study. *Clinical Case Studies*, 11(4), 263-275. https://doi. org/10.1177/1534650112450506
- Tangney, J. P., Baumeister, R. F., & Boone, A. L. (2004). High self-control predicts good adjustment, less pathology, better grades, and interpersonal success. *Journal of Personality, 72*(2), 271-324. https://doi.org/10.1111/ j.0022-3506.2004.00263.x
- Terni, P. (2014). Finding what works, works; but doing it requires self-control: an evaluation of a solutionfocused online intervention to increase goal striving. *Master of Applied Positive Psychology (MAPP) Capstone Projects, 54*, 1-56. https://repository.upenn.
- Zeidi, I. M., Divsalar, S., Morshedi, H., & Alizadeh, H. (2020). The effectiveness of group cognitive-behavioral therapy on general self-efficacy, self-control, and internet addiction prevalence among medical university students. *Social Health and Behavior, 3*(3), 93-102. DOI: 10.4103/SHB.SHB\_20\_20
- Zhang, Z., Ling, H. E., & Shi, Z. (2017). A randomized controlled trial of solution-focused brief group counseling on procrastination in graduate students. *Chinese Mental Health Journal*, *31*(1), 7-12. https://doi.org/10.3969/j. issn.1000-6729.2017.01.002